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L@ R R
(Common Questions)

(EEFR)
1. ZOBFIEEENOMELHED S L5 ARRH S ECHOTEVITERA,

2. BEBENOREEHRDDLIERBD -7 b, B ERRICEERIR, ZBRE
FEBRATHIL, :

1. Do NOT open this question book until instructed by the supervisor,
2. Right after you are instructed to start the examination, fill in your program, and

identification number on the answer sheet.
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B4 1. Question-1

ARE, BOAFEEOMICHDIEDER - EEHEEZRS. ARMEFOEYIZ. i
AEANSERCAVNEWS, RAGVLDDERGEEAH S, O - B0
BEMELTRLMAELVELDETRED (A) »id (B) OFMGHEELVBIOZE
—DRVESL, 4 R)

Human beings have an invisible psychological space or distance that they want
to maintain with other human beings, not wanting to allow others into their
emotional territory. Choose the most appropriate name of this space or distance

from (A) to (E) below. (4%)

(A) Ea—<2R5—IL
(B) BERX47r—I1L

(C) N—VFILAR—R
(DY PA=T4

(E) EBENFEIE

(A) Human scale
(B) Body scale

(C) Personal space
(D) Amenity

(E) Cognitive area
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i 2. Question-2

1902 iR & hi- [BAHOBEBEHT] (&, H;H (B, BE FESLHE)
CHE (ELE, HFfLES. BERELL) OmBOHNEAEEZTEA3HHOEY
AVERRLE, COEAR. 3DOMEORTHASIA, TALZETEIATLD
M EVSEBWNMIER =,

OEDEBFTCHY. FTHERTHY. HEHTESORBEILHEDL, RO
(A) ~ (E) D5 ELWLWHDZE 1 DRULZSL. 4 R)

Published in 1902, "Garden Cities of To-morrow" offered a vision of towns
enjoying the benefits of both town (such as opportunity, entertainment, and high
wages) and country (such as beauty, fresh air, and low rents). This idea was
illustrated by the three magnets diagram, which addressed the question, "Where
will the people go?"

Who is the author of this book, an urban planner, and the founder of the garden
city movement?

Choose the correct answer from (A) to (E). (4%)

(A) Octavia Hill

(B) Frederick Law Olmsted
(C) lan McHarg

(D) Ebenezer Howard

(E) Raymond Unwin
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8 3. Question-3
HHEERRICEATIROXEOHRMNS, RIBFVDLEELOF—IRULZ S, 4 F)

Select one most appropriate sentence about forest ecosystem from (A) to (E). (4%)

(A B EBUABEROEYFREBEBAT S,

(B) AXRDIFEAEDHEREABBROHEEEZRITTE,

(C) BRADHEMIELEBOESREZLSHTNS,

(D) FHRAOEWE., HOEBIEDLY B ENENET - ERLTW S,

(BE) XEMY—EXRE. FHEBRIRERITIEBRF—EXIZRKEENLELEL,

(A) Biological communities in forest ecosystems consist of animals and plants.
(B) Most forests in Japan have been affected by human activities.

(C) Forests in Japan cover less than half of the country's land area.

(D) Organisms in forests inhabit independently not having relatlonshlps with

each other.
(E) Cultural services are not included in the ecosystem services provided by

forest ecosystems.
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B4 . Question-4
HEEERICET AELVGRAEZ., TREOXA)~EMNS—2BUL S, 4 H)

Select one correct description about planting ground from the following sentences
(A)to (E). (4%)

(A)EC (ZLIEDORBEDIEETH S,

(BY BEHKSIL pF4.2 LY HLBWNEAKBTERESN K TH D,
(C)CIN b AMELNEETIIERNENEZ 5,

(D) pH IEKFRA F VEENEWNMEEBIMER LS,

(E) TIREEIXLIENFORBENKENIEBIMERIZH B,

(A) EC is an index of soil fertility retention.

(B) Available water is water retained at pressure head weaker than pF4.2.

(C) Nitrogen starvation occurs in soils with low C/N ratios.

(D) The higher the hydrogen ion concentration, the lower the pH.

(E) Soil hardness tends to increase as the particle size of soil particles increases.
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5. Question-5

Mp— R TSR] &IE TAYIDHEEREE LA - AT =58, 1980 £
CRIELEBETHS. COTH—FTLA R ICETHXETELLEDE 1D
BULE. (4 /)

"Third Place" is a concept proposed by the American sociologist Ray Oldenburg
in 1989. Which of the following sentences about "Third Place" is correct? (4%)

(A) TH— FFLAR] F3EUEFRENGNE, TOPREHELARL,

(B) TH— KL AR ELiF. BETHLBREBTLRL., BUDMOWVWWEBROZ LT
H5.

C) TH— KL A X] 2 <{E DAL, X FLROEL,

D) DEIETH—FILARIITETEELIN, h 72 0BEEBRYTRHELLR
LYo

(E) TH—F L4 X (&, 3L LOZRIZEEINGITHIEL S0,

(A) "Third Place" must be used more than 3 times to obtain its effect.
(B) "Third Place" is a comfortable place that is neither home nor work.
(C) People with many “Third Places” have high stress.

(D) Parks will become a "Third Place”, but cafes or pubs do not.

(E) “Third Place” must be located on the 3rd floor or above.
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(Designated Subjects)

(EEFE)
1. ZOMFREEENLBELEDILIARRHZETHOTIIWVTERA,

2. BEEENORELHDD L OGER o b, BRANCRERERAMKICH BL ., EEHEE,. 2HE
BERATHI L,

3. BMITHAEBBEA TR TS LRBELRYET,
4. FRERRR 2 EHBHEIRT. ThENCH B4, BEERR, RRESFEZRATL L,

1. Do NOT open this question book until instructed by the supervisor.

2. Right after you are instructed to start the examination, fill in your subject, program, and identification
number on the answer sheet. ‘

3. If examinations are not taken in the designated subject, you will be disqualified.

When you use two or more answer sheets, write your subject, program, and identification number on each sheet.
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1.

OO

M 2.

WORNE ADOFBRATERAT L (% 1568 §608R)
Hilgkis = LR

ERiEH

T X E R R

R it

HFERH O LTI & B P

v frm Y —) XA

AL AR ES ST EE TR ZEET 5. EECHENEESHRR
FHE (LLF., EMX) 1T2£FET 100 L5, CEMESGE ORE
L FOMEREHREL (20.8)
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BLFIZRT Question—-A & Question—B EH50 1 D& BIRL., A% &, BERAKICAAENR
[EHREBTRHRAEL.
Select the Question—A or Question—B as below and answer on the attached answer sheet

in Japanese or English.

Question—A. JALRETEDOIEG L RZE Landscape planning theory and research

Question—A ZBACHEIL. BLTO Q) 26 Q)0 3MEMET L,
If you chose Question-A, answer the following three questions from (1) to (3).

(1) ROREPS 2 0BATETAZNTAL L, (158X 2)
Please explain key terms selecting two from the following list. (15%x 2 )

© BALEME (AZ)  Japan's Natural Parks Law
@ BABEAE  Yakushima National Park

@ J>¥aFn - +FAXL+  The National Trust

@ xoav—Y XL Ecotourism

(2) ERFHEICEWTHY S 2 FUERORBE P AR X, KICEHLIERIC BT 2 2= &

R ANEoBEBIcowTihRLY, (25 &)
Explain the characteristics of specialized information used in landscape planning. Next, describe the
relationship between the space and the viewer with respect to the specialized information.  (25%)

(3) BEatEic s 2 AR ORFMESRHY L, ki<, AROHEREREFTIHELO>WT
M &, BBFICRROF -V -V R2ERHT 2L, D0 ECHERALEF—T7—Fic
BT v E—=FAVvERATE L, (25 4)

¥F—T—F A7 BERR. AEER. HEiH. BiaEoRR

Describe the characteristics of landscapes in landscape planning. Next, explain how to share a goal image
of the landscape. Use the following keywords in your answers. Underline the keywords used in your

answers. (25%)
Keywords: life, collective representation, consensus building, figure and ground, municipal boundaries
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Question—-B R &FHEDFHE & 7%t Landscape planning and design

PNAFT7 4V v 7 FTHA L AT OURHEREICR T 2 BEEHE
REOABDIDIRNTOA =T L A= 2N L EESH L S BENE (ERER) &2y,
FTOARELBMNDBZEDTERNAFTTZ7 4 ) v I FHA I XBREBEICBT 28
REDOYEREZITVRIV, TOE, WEHEE (K-1) NTKEL ST 100X100
mOTYTEREL, ARV RELHFELREHORIBVEZFERL > 2 BRREEZENL
eF v F7 A —APEMBRBRLERHTIZ L, £k, BEEE-ORMERIIMELTH
Twnwbolrd3,

RE T TORIZEETARZ L,

& AR—VDEWEIL—=UTITHRER, 1) 0, BLRED IRF U 2A2RBE)E ],
2) £, K HRLRLYD (BETAEIX), 3) BRIFE, WALLYD BET3HE) ©
3 DEARBIERTRERBEIRRET DI L,

o HROESHOBEH#HEZEXEL, AL E~E~FEICESIBIEESE2BHR
T 5, FHEEBMLOTHEILI Imb L, £OITROZBILLBREABRICED D Z &,

UTFTORBITONWT M ORERBREBEVCLTERIE B2 T2 2 &,

O BRRFEZEOBESLPLZOL S RETREICBIZ AT 740 Vv s TF¥FAD5R
FIEEIZOWTRBRT Az &, (HAE 200 FRRE) (20 %)

@ ZOFy FAF—TFHFL v EITIBICERTREFIES 3 U LT, wdt+52
., (BAIES 100 FRE) (20 5) -

® FEEK 1A KEE2Et 100x100m$EHE MR 1.7500) LEHBoEmER 1A BR 17
200) #VERT A&, EEEITIIRAr —A A= AN TEHAI L, HERIZIE
BITE (KAEFEDL) CERTFHRAEFER2EDIEZANA T —ANbN3 L5115

Z &, . BHET BB EOEYREICOWT, FAEN 3EU LD, KEF
wEET A E, (40 B)

Landscape Planning in an Urban Seaside Environment by Biophilic Design

Make proposals for renovation of urban parks along the Tokyo Bay coast using
biophilic designs that change from conventional open spaces only for humans to
activity areas (habitats) that include animals and plants, and that can come in
contact with nature. At that time, we selected an area of approximately 100 x
100 m including the waterfront within the target area (Fig. 1), and created a
landform and spatial installation that makes use of the seaside environment that
can induce various activities and behaviors such as sports to design. In addition,
existing trees and existing facilities may be removed.

Pay attention to the following points in the design.

Propose a place where the following basic actions are possible for basic
sports training: 1) “Balance movements” such as standing and floating, 2)
“Movement movements” such as walking and crawling, and 3) “Manipulation
movements” such as throwing and digging.
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Rehabilitate the existing vertical revetment of the reclaimed land and
artificially reproduce the sandy beach from the outer beach to the sandy beach
to the dunes. The tidal difference of the mean sea level shall be 1 m, and the
change of the shoreline shall be included in the design.

Answer the following question with A4 horizontal layout.

@ Describe a benefit of the biophilic design in urban environment from an aspect
of landscape planning (100 words in English). (20%)

®@ Describe more than three points which need to be considered in your planning
and design phase (50 words in each point in English). (20%)

@ Draw one plan in 1/500 scale in 100x100m area including shoreline and one
cross section including shoreline 1n 1/200 scale. Be sure to include a scale bar
and north orientation in your plan. In the drawing, include pedestrians
(adults and children) and wheelchair users so that the scale can be
understood. In addition, list at least three plant species for each of the
planned woodlands and grasslands, and indicate those on the drawing. (40%)

LA
=T

M| U7 targetarea_ ;

Pl Mamam ] LG >
H i HIGHWAY ¢ HI 0 100m

—— BLFE@EE existing walk
Q BRI existing tree
Bl 5529 existing building

———— E&E# contour TP=Tokyo Peil

¥EE ocean area

-1 (Fig-1) aEtxfgih (Target site)
HE : B BERHRES GERE R 2T
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farE R B
(Designated Subjects)

(EEER)
1. ZOMFPEIBEBEENCHREEZROZL58EBHIETHOVTRWITERA,

2. EBENLOBEEHNDS X 5ERRH - b RAICHRERRICRE B4, SEEER,
ZHREERRATOIIL,

3. B AR E DA CERT S L AL 2D £

4. FREFIMES 2B LB SBEIE. FATNICREL, SHER, SRESPTEAT
Ak,

1. Do NOT open this question book until instructed by the supervisor.

2. Right after you are instructed to start the examination, fill in your subject, program, and
identification number on the answer shest.

3. Ifexaminations are pot taken in the designated subject, you will be disqualified.

4. When you use two or more answer sheets, write your subject, program, and identification

number on each sheet.
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fil. TRROBXFICHD () RIDESDLWEOFT OB, 5 TELEN, (F24)
1—1: RN LEFAIORRICHT TP EOEREFEIC OV THIRE - Z/EEER D
H, BHRED (A.TEWEEL. B.TEIR), C.T—FE ) 138, sk, BF. 237, ME. & |
i, A, fERREDI0EBIZA, E2LOREHRALCRELTRY., ERMEOEER
BEELNZD,

1 —2: FEORIC/ELN R C. 1860FEDF{MES Bl L ERAIIRMEEL T, B |
Elgo7o (A.FBAR., BKFEEER (L, C.EME) ITHE, BitARELRY, THOEENE
LS TEROR TR ROND, KEO LIRS E TSN ML, EEROEENEDD
HThb, BEEREMODRNT, kmEEOERTH -1,

1—3: M EFER CIIRFEDOZERIE R OERN 2L, BRIFEIN- LM L~ TE
e (A RFER. BAIEER, C.ERER) X, BE2EENE AT B LI DICED
NIEREA T LERTAMERTE20EEDOEELE XD,

[ 2. LT ORIZEZREN, (F 4 K)
(1) UTEHITEREADELDLY | 2B, BAEEAOREEFHELZET, £

NENI00FRE T, BRDERT VAV OB ANOHRICAEHRLREN, HE
WIS THEARZAWNTHRL,

a. ZEJE b. &7 7 LR

(2) LITRHITFAEMOELEN 1 2B, BAFEMOLEZRAELE- LT, %+
NENI100FRET, BAOEBRT VA OB AL EBIcHEH L s, S

WIS THERARZHAVWTHER,
a. T v LER b. =S¥ T T L

(3) LUUTRBIFREAGOELL) | DRV, BAFEMOESEHARLELT.
NENLOOERE T, iRUBDER LT VRRr —FOF F AL QDB AL
BICHHA LU eX0, REZRCTHERRZEWTHEY,

a. Ol R\ TFY b. 7R ha7rr B

R 3. BUHE A3 AR RHKICH 250 (— REBRM) IS, 74 AN DR ELRELRE
VY, B L AT B BRI T ROEY ThHB,
(BUREA3MFE ARICARE O L, B RABOA TICZRESEREATEIE) (62 &)
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MABBET A LE

LTOMEIC, BAREFELIEEFTEAGSL,
Answer the following questions in Japanese or English.

B 1 ETFIZRY 2 OOMEOEBMIDNTRALLZEL,. (40 R)
Question-1 Explain the difference between the two concepts given below. (40%)

(1) 2B 22 &8 (10 &)
Open space and vacant land (10%)

(2) ® FAfHE & FEME (10 R)
Use value and existing value (non-use value) (10%)
BV TU—AVIZFRIIFN—EBEDA VISR 9Fv— (JL—4
VISRV FY—) (10K
Green infrastructure and conventional infrastructure (gray infrastructure) (10%)
(4) MKZELHRAKTE (10 2)

Rainwater infiltration and rainwater harvesting (10%)

M2 BUTO7DO0REIS4DEBAT. TAETNEFRE 100 FRE., FEX
3 50~100 BRETHE LGS, REARICE. BALABEERLES 2 TH
HEEL L, (10 mx4 =40 &)

Question-2 Choose 4 out of the following 7 terms and explain each in about 100
Japanese characters or 50-100 English words. On the answer sheet, indicate the

term you have selected and write an explanation. (10%x4=40%)

» NbS (Nature-based Solutions)}

- Eco-DRR {Ecosystem-based Disaster Risk Reduction)

- TIATHNLTHA 2 (ecological design)

- E—F74 52 FER (urban heat island effect)

- @i 75 > % — (downspout planter)

«FFASYRTF 4 v I TSF 424 (naturalistic planting)
- AEDJ—=2 5 E (zoning plan of public park)
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(Designated Subjects)

(EEZE)
1. ZOMFITEBENLBELHRDBEIARRH D ETCHEVTRWITERA,

2. EBRENCBEEEDD L OARNREH - b BYNCRERRICH B4  SEER,
ZBREEERATIZL,

3. BUHERBEUATRBRTIERBLERDET,

4., RREREN 2B LB BERE, TR ENCR B4, S2ER, RREFZTAT
5T, '

1. Do NOT open this question book until instructed by the supervisor.

2. Right after you are instructed to start the examination, fill in your subject, program, and
identification number on the answer sheet, '

3. If examinations are not taken in the designated subject, you will be disqualified.

4. When you use two or more answer sheets, write your subject, program, and identification

number on each sheet.
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1. BATERY (1) ~ (@) ORFE OS>V THRAT L, (%10 )

(1) R—=F=RTRA ]
(2) #M5lE (KIRKL)
(8) ZU—y~yL b
(4) BDE

2. bAE T, EHEEROIMR AL L < 2 5D 2 MEFHPLEIZRBN T,
BALFIC LB BTEEMOUELHNAROFEM 2 L ORMYMEHR K
HENTNWS, ZOZLEEHEZ OZOL I RBMYBEANRRDONDHE
Bifih, @RV EAZEDD ETHHAERII SO L 5 2®%E 2R 1L%E
D, QBTEEMVETARICME, REMOBFL ATV AR—2 %
BOT, IER S —NVTORY EAHDOUREF/O B/DITIXED L 57277
RBEZONDD, ODEFRFRITOWT, bllDE i~ L, (40.5)
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M1, UFICRT (1) ~ (5) KonTHBEE, (&84
(1) BADERRE

(2) BEERIL

(3) Rpghs

(4) AEBHOFEDR

(5) WIAD DFE

I 2. TEHIMELE LTOSEERUERYE (LT, SEES) ol —FERL
LB Lok, Eir. AROTEHERICSFEELEATS L OFIR L
BEEICSWTHBLRE, (40 H)






